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In the previous 97 we learned that if a 93m, or a '3, or a 1an
becomes open to a 0277 MwA from two sides, on Shabbos, 27 2/

nmiv holds; DY D TR B XN
X152 TNYY PNORI NIV IMRD PIMD - R e e

They may continue to carry in that 13 for the rest of this
Naw, because 1IN TINMAW 2 NAw - But unless fixed, it will
be Wox on future mnaw.

o1 17 holds;

PIMOR R3S 7NYY PNOR ORI RIS YD PN NAW IMMKRD I DR oY %3 A a9
naw imR> - Whatever the 7257 is for the coming mnaw must
be the 11951 for this naw, and in this case, nww "3 and jn ',
supported by an explicit Rn»73, say that "oy 1 does not allow
carrying even for the rest of this naw, because *o» °37 does not
hold 7 naminw 1o naw.

Y0P 7399 1257 TR O 92 XM 2T WITR
AT %292 719577 MR SRIDW) -

R’ Chiya bar Y osef paskens like "or 9, N SNyaes nEY 92 XA 29
and Shmuel paskens like 77 . AT 0295 1950 0N 1395 abn nN

The last mwn in the 79 teaches two mpomn between 7 3
and the omom:

. o2 3w 72 HY Y ANan -
If somebody builds a second story, as a bridge, over two BRI ' '717 H“'W 98
houses on opposite sides of a 027371 mw3, or if a road passes
under a bridge,
AT 1277927 Nawa rnnn phobon - n
he may carry under them on P7oIX D15M ,NIW
The onon say it is TOR.

D3/’ P2 797

The xm2 points out that the reasoning of N7 *17 can be A a7

explained two ways: 2 1

-1- DO T 1PN 0 - IS T mP 9
Since the 0’177 MmwA has two walls - the two houses - and a NIPINT oMoy 799
roof - the second story, we employ the rule of 797 7pn °0 o s WP Ko

omo - the edge of the roof Halachically extends down to BPE A O e B

create two additional walls, thereby enclosing the entire area BYS P ST S

under it. The 0'»on hold we cannot utilize oo 79 73PN 0 RIVIRTD T8 MO

where it's w50n.

-2- RNVPIIRT MR Nw -As mentioned many times in "o A,

1217 and naw 'on, the Braisa teaches; ﬂp?;’/‘/ @’;2@//2}% e

AT MR P 5V I -

R’ Yehuda said even where there is no roof;

D297 MW TR IUN DN I O D -

One who has two houses on opposite sides of the street - the

area between them is a

ROIRTD TI0 MY

It is only 132975 - that in order to carry there,

DRHORI JMI RWIN JRID NP IRID AN IR JRID 121 IRID 1D 0
. He must place a 1% or 7 at both ends.

The o'nom holdyoa 0297 MW P2IWH PR -

Only three mx'nn create a 7mn MwA.
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The Mishnah continues;

WN9IN 120D PN AT IR TV -

We can adjust even a 1an that is open on two ends with a '’ or
1p at both ends.

IO OO - The oM require a nnon N at one end and a nb
or 1 at the other end.

T 0 N

M50 15v 1777 - We have B“H completed the Ninth Perek of 'on
P217Y, and begin the Tenth Perek p>on x3mon B'ezras hashem.

NIV T VINT;

NN TOION PYON RIIMD

One who finds a pair of P>o9n on naw - and as Rashi adds, he

finds them in a public place, where it might get lost or desecrated

The xip R holds he should wear one pair at a time to bring 5 17

them inside. ﬂul : j v ]77’.‘

5RO 127 - DIW D3W IR HR°50) 127 says he may wear two pairs

at a time and bring them in.

R17 explains;

PR 7 who says;

w1255 512w 1 53 w1 - One may wear as much clothing as he can

to save them from a fire, would agree that he may only wear one
. pair of p>on at a time to save them - because, unlike many layers

of clothing, it is completely unusual to wear more than one pair

of p>on at a time. DTOLTY 129 NMP NN

As Rashi explains the Gemara, the X7 Xin holds

7291 15t MW - there is M3 of P>on on Maw, and the 0»on made TR ;

no special allowances in order to save them. He may wear only oalllot o o b

one pair of P01 as he does every day. /

58513 127 holds /

P> omn 151 I8S naw - there is no mx» of P>on on Naw, and the owon

made a special allowance to wear 201 as a v’wan in order to ’

save them, but even so they only allowed wearing the p>on in its T3V 0P @ ““‘1

proper place on the head and the arm. However, 58513 '3 holds ]’5’9.11 o 1'1’:'1'7 ‘\\

rP>on nw mInd wRIA W opn - and

PYon nw mInb 72w oy - there is room on a person’s head and

arm for two pairs of P>on.

! ""9 I 20 105N ;~5~5n ¥

It might get lost..

Parenthetically the X3 mentions that the 7 5w y>on should be / ﬁ
worn on the bicep and the wx75w om0 should be worn on the oMOm3 127 ﬂ’)/d' NP KIn
part of the head where a baby’s skull is soft. 75

The 97 summarizes with five possible explanations of the
Machlokes between the Xnp Rin and SR'9m3 127
-1- First - They both hold p>on 111 185 naw.
If so, the 911 to wear the >on is not based on the Mz, but on
the p>on nonetheless being a vwon. However, they disagree in
P>on nw minb wrI2 v opn - Whether there is actually room on
aperson’s body for two pairs of P> on.
The xnp xin holds there is no room for two pairs - and only one oo 130 NRp KN
. pair can be considered a v*won. Therefore, 1t Mt 70101 - only one \/ X
pair at a time. 58> 127 holds there IS room for two pairs of
1> on - and both can be considered a v'won. Therefore,
0w D3W - He may wear even two pairs as a 0wan.
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-2- Second - They both agree p>on nw M WRI2 W DIPD.
However, the xp Rin holds ond
P> on 1t maw - there is a m3» to wear P>on on Naw, and the
a7 to bring in the > on is based on the mzn, which requires
only one pair of P> on.

Rashi adds, that wearing the second pair would be an 51 o'
Qon, making it a INwDH.

5851127 holds Sxoma 139 K2 XN
P>on mt RS naw - there is no mx» of P91 on Naw - the IR
is based on v’won, and since

P>on nw mInd WRIA W 0PN -

He may wear even two pairs of P>on as a vwan. olop DY/,
Rashi adds, that there is no 9011 52 o°R, because it's not
being worn for the mx», but to save them.

The 010 Y2 Wo'R applies only while performing the mzmn
when the mxn is applicable.

WNI3 L OPN
Po0n P 3D

SEED SLED
PON 71 NOR Second pair
applies only while would be an
performing themsn — OINDITNONR

3- Third - According to Rashi’s second vwo.

They both agree > on 11 naw, and that p>on are a vwon

even when not performing the mxm» - but disagree in

nM> M2 M - Whether one must have the intent to fulfill
. the M1, in order to fulfill the s -

The x»p R0 holds n7nd M>Ix PR INRH.

Even without intent to fulfill the mxm», he is 07p» the Mmzn -

and since P>on 11 naw, if he were to wear the second pair of

1> on he would be 721v on 9010 Ya. Therefore, the Xpp RN

says; 211 1 70101 - He may wear only one pair at a time. x5 129 NMP NID

58513 127 holds

1IM> M>73 M - In order to fulfill a mx», one must have the

intent to fulfill the mxmn.

Since he’s not wearing them for the mz», but to save them, V((/f@a Lo Vs Q, o Vs

he’s not o7p» the Mz - thus by wearing a second pair of

1>on he would NOT be 921v on 9011 5. Therefore, HX'91m3 127

says; 010 030 - He may wear even two pairs as a 0wan.

-4- Fourth - All agree min> va RS nRxY -

No intention is necessary to be 07pi» the mxn. The

Machlokes is -

The x»p R0 holds

1M °va RS Poin Ha own s -

Since he's 07 the Mz, he would be 921 on 9010 Y1 as well,

even without intent - therefore, he may only wear one pair of

p>on. HxHra 129 NP RN

787703 117 holds ponbamwnmb  Honbaown b

7272 9oImn Ha Dwn 1S -

One is only 723 on 9on 51 with intent to fulfill the mxmn.

Therefore, in this case, although he’s o»pn» the mxz», but since

there is no intent for the mx», 1g1e’s not 321 on oI 53, and V(o?‘g'a//) A 0’01/’ A
. may wear two pairs of p>on.
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-5- Finally - the X2 briefly suggests that they all agree, that
if we would hold

P>on imt naw, he would not be able to wear two pairs,
because

M2 °va RS Poin HSa own M’ -

Therefore, we must say that they both agree

P>on 1t RS naw.

However, the xnp xin holds even 0013137 Nip Kin

29119 711 RS 1912 KW 1115 - s 89 Maps a8 Maph

Even though there is no obligation to wear p>on on naw, if 10515

one does, he’s 0»pr a Mz, which according to the Xnop Xinis R2ehtep n Vs Vs

enough to be 721» on 9o 1 - therefore, he may only wear Ofglal/’ " 4'0[/’ .

one pair.

58513 127 holds !

M2 YU ROV N - Should not allow him to
If one wears P50 on naw - as Rashi writes; wear even 1 pair of 7>on

MR TN PR -

He’s not 07pmn a mzn at all - if so, there is no 901 53,
therefore, he may wear even two pairs.

One would be 7210 on 9010 52 even 111 X>W only ifhe
specifically has nio to be opn amsn.

. The Gemara rejects this last bwo, because according to the
~op Rin, if they hold
P>on 1 IRS naw - AND
N0 2P RS 1512 ROW Nh -
they should not allow him to wear even one pair of P>omn,
because he’s 7239 on o0 52 for wearing p>on on naw.
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